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Instruction:  All questions carry cqual marks.

I.  Explain various types of Industrics.
OR

Give importance of small scale industries in India.

1~

Give importance of public scector in India.
OR

Describe the importance of private scctor in India.

|Max. Marks : 70
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3. Give contribution of service sector in national income and employment in India.

OR

Describe the importance of telecommunication and development of telecommunication

in India.

4.  Describe the problems of unorganized labourers in industrial sector.

OR

Explain the characteristics of unorganized labourers of agricultural sector.
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5.  (A) TrueorFalse: '

(B)
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Small scale industries are capital intensive. -
Industrialization is a process of sctting up private sector industries.
Public sector unit in India were 249 in 2010.

Unorganized workers means domestic workers.

‘LPG” is a short name of economic reforms,

Unorganized sector activitics are always illegal.

Transportation system is classified in four types.

Choose the correct option :

(1)

(3)

4

&)

(0)

(7)

Classify the cement industry.

(a) Basic (b) Labourintensive (c) Capital intensive
Industries are classified in types.
(a) Two (b) Three (¢)  Four

Investment limit for Tiny unitsis

(a) 10 lacs (b) 20 lacs (c) 25 lacs
Industrialization in India began systematically from :

(a) the first five year plan

(b) the second five year plan
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(c) the third five year plan

How many opportunities of employment are there in capital intensive
industries ?

(a) Less . {b) More | (c) Negligible

In casc of unorganized activities

(a) Consumer rights can be easily protected.

(b) Consumer rights cannot be casily protected.

(c) Both (a) & (b) are false.

When the Minimum Wage Act was implemented in India 2

(a) 1960 (b) 1948 (c) 1968
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Instruction :  All questions carry equal marks.

How are industries classified ?
OR

What is cottage and small industrics 7 Explain importance of cottage and small
industries in India.

Describe the importance and defects of public sector in India,
OR

Describe contribution of agriculture sector in development of India.

Explain the naturc of unemployment and discuss the types of unemployment.
OR

Give the meaning of unemployment and suggest some measures for reducing
unemployment,

Explain the concept of “Relative poverty and absolute poverty™ and discuss the causes
of poverty.

OR

Explain the concept of poverty line and discuss the govemment policy for removing
poverty.
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S. (A) True or False :

(B)
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(2)
(3)
(4)
(5)
(6)
(7)

Small scale industries are labours intensive.

Industries are classified in four main types.

Tata Motors is pub-iic scctor venture.

Privatization means disinvestment.

(PMEY) Pradhan Mantri Gramoday Yojana began in 2000-01 in India.
Unemployment problem is a only economic problem.

The form of unemployment can be known in four types.

Choose the right answer :

(1

(2)

3)

(4)

(5)

(6)

(7

Classify the cement industry.
(a) Basic (b) Labour intensive (c) Capital intensive

Main components of infrastructure are

(a) Three (b) Four (¢) Five

Economic reforms in India have taken place since _ Industrial Poli(.:y.
(a) 1980 (b) 1991 (c) 1995

Public enterprises in Indiawere ____ in 1951.

(a) five (b) seven (c) nine-

is the biggest public enterprise of Government of India.
(a) Railu;vay (b) Telccom (c) Air-India
types of unemployment are secn in rural area.
(a) Three (b) Two (c) Four
Indian poverty is a result of

(a) natural factors  (b) man-made factors (c) accidental factors
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